MR HH06405H03H glUHn>rcI—-03T
[(B—1HE] CLOG R )
Bz, K & B #&E & GR HDCP| NET | &% gz, K & BE|#E &0 GR HDCP| NET | &%
B &AM X 39 39 78 9.0 169.0 BG B BAR EH 35 41 76| 4.0 72.0 BG
#E sl T | 42| 41 83 | 14.0 |1 69.0 #E fl #h 44 | 39 83 ]10.0 |73.0
3 aff R&E | 38| 46 84 1 13.0 | 71.0 3 15 £3 39 39 78| 4.0 74.0
4 | 5H BB | 44 | 43 87 116.0 | 71.0 4  X¥F B 42 | 41 83| 9.0|74.0
5 = RiE | 45 40 8512.0 | 73.0 5 £l 44 | 42 86 |12.0 |74.0
6 Al E= | 50| 50 100 | 27.0 | 73.0 6 LI ZEHHE 48 | 42 90 |16.0 | 74.0
7 KH A | 43 | 47 90 | 15.0 | 75.0 7 | E¥ SR 38 42 80| 5.0/75.0
8 | Ah#E ¥ 40 39 79 2.0,77.0 8 TH 1F8 48 | 44 92 16.0 |76.0
9 A #4641 87 110.0 | 77.0 9 | FEE EO 33 40 78| 1.0 77.0
10 | BFH | 45 43 88 | 10.0 | 78.0 10 | BIR {2E8 44 | 45 89 12.0|77.0
11 | WA IEE | 41 41 82| 3.0]79.0 11 | B BL 47 | 42 89 ]12.0|77.0
12 | FlF E | 42| 47 89 | 10.0 | 79.0 12 FIE 8 44 | 43 87| 9.0 |78.0
13 | FE fH— | 46| 45 91 10.0 | 81.0 13| &A &= 46 | 44 90 |12.0 |78.0
14 | KE #&H5h 46| 48 94 | 13.0 |81.0 14 | #EE HH 45| 37 82| 3.0|79.0
15 | @& —3% 48| 48 96 | 15.0 |81.0 15 ERA 2AX 431 42 85| 6.0|79.0
16 | #tiik 3EHA | 42 | 58 100 | 19.0 | 81.0 16 | &F B 44 | 46 = 90 | 10.0 | 80.0
17 | IR F=E | 42| 47 89| 7.0]82.0 17 | BAERF 42 | 50 92 ]12.0 |80.0
18 | FaH = | 48| 48 96 | 14.0 | 82.0 18 | LllF KEd 49 | 51 100 | 20.0 | 80.0
19 | *TH m | 47| 50 97 1 15.0 | 82.0 19 | 5 Rt 44 | 43 87| 6.0 |81.0
20 | &)l g 50 48 98 | 16.0 | 82.0 20 | Al =i 46 | 45 91 10.0 |81.0
21 | B/K & | 41| 49 90| 5.0|85.0 21 | R tHT 52| 39| 91 10.0 81.0
22 | BZ B | 48| 50 98 | 13.0 | 85.0 22 | B B 49 | 43 92 11.0 |81.0
23 | HUR 8hE | 54 48 102 | 16.0 | 86.0 23 | BB E 47 | 48 95 ]14.0 |81.0
24 | EH &% | 47 51 98  11.0 |87.0 24 | K¥F Q& 52| 44| 96  15.0 81.0
25 | st FE | 50 50 100 | 11.0 | 89.0 25 | Bl &=t 46 | 42 88| 5.0/83.0
26 | JUIl &= | 51| 54 105 | 14.0 | 91.0 26 | WHE 0F 51 45| 96 |13.0 |83.0
27 | = & | 48 | 54 102 | 10.0 | 92.0 27 | R = 51| 52 | 103 | 20.0 | 83.0
28 | /\EE F|1T | 51| 54 105 12.0 |93.0 28 | iR p/my 45| 51 96 |11.0 |85.0
29 | MREBEE 56 | 46 | 102 | 16.0 | 86.0
30 | WO BEE 62 55 117 30.0 |87.0
31 | &H &= 47 | 50 97| 8.0/89.0
32 K BS— 52| 51103  12.0 91.0

PRy A HDC P 85%¢E{iI: HDCPES - EEHEL
I= U= 1

\
I




